GYRO-TECH
1175 WHISPER-SLIDE
ELECTRIC

LOCK



Wi i raklis sid

bPE6LE m O - kWL Ma_r__mummu Nid _t.u__E:
=r el o ol UIMEIP SIUL JO I pue £ g 20ed L L
i | HO3L OHAD - r g X 0 X gt 'xof Buiddiyg golipL) b | &

CETCErEeRT |I|r.,.ni,n_”._m.nw1 pueH by 207 3jes e ciogkg| bo|E
siojeiedg patisu) H W - 9jes ied .xun._hw.._umm__xmz .:..H_._ :_”..h.H .ﬂ.|__=%m“ % — il m:__udmz B0Z6 b} b w
; N ot o il Tre | e NN B grzivi] g |5
wBiapis pexi4 pueH Wi g ‘pajayaoduadg [In4 pueH 1437 51-g/c NN 2enbg | oz-LZ00VE| E 2
‘sped-1g GL1 ) | U0 pasn Jiy ajeg [iEd =10 % 01-ai% ‘siod pEap xaH | 9E-vlL00kE| £ !
pii ‘mamg budde s | og-wloovz| ¥ | °
|SHoEIE JaLIDjsUR) | TalekE L | B
1BULIOJsUBIL JOA ¥ LOLZPE| b |97
- 81015 N %3H | sL-iz0ove] b [ 1
~{2H TT0L/G euse Bid | vi-LLoovE| b | CF |
PO 'BUST Z % g/ lod Jepinous | egeeyl| b &

1

AL




Instaliation Instructions for Electric Lock Retrofit on
Right Hand Full Open and Left Hand Fixed Sidelights

Parts:

Shoulder Belt (Cut down to 2") 1498353 Two (2) 3/8-16 x V: Bolts 240014-26
Large Flat Washer 240017-14 Two (2) 3/8-16 Hex MNuts 240021-18
5/6-18 Nut 240021-18 Fail Safe Lock, Right Hand 219117

24 volt Transformer 142101 or Fail Secure, Right Hand 219118
Transformer Bracket 149167 Three (3)Wire Wuts 141218

Two (2) Self Tapping Screws 240014-30

Please READ THESE INSTRUCTIONS THROUGH BEFORE STARTING. Understand
what the final result will be before attempting step 1!

1. Turm off power to unit via the circuit breaker in the building's circuit breaker panel,
2. Open the cover of the header and remove the cover off the switch plate on the left side of
the unit. Remove the switch, loosen the mounting nut and slide the switch box towards

the jamb tube as far to the left as possible. Tighten the mounting nut,

Assx:r_nblv: the bracket and transformer with the screw
located on the transformer, See Figure 1,

(]

4. Remove the mounting nut from the operator end of
the operator/motor assembly.

5. Install the transformer assembly onto the
operator/motor assembly bracket using the nut
removed on the last step. Route the black and winte
wires into the switch box and connect them to wtility Figure 1
power. The black wire should be connected 1o the
output side of the switch (so0 the toggling of the switch removes power from the
transformer), Replace the switch and switch box cover.

6. Drill an access hole in the nut track flanges large enough to fit the bolt head, Install twe
(2) 3/8-16 x ¥ bolts into the bolt head track. Slide the bolts next to the belt tensioning
bracket. It may be necessary to temporarily remove a rectangular platz holding the track
in position to locate the two bolts. Install the Electrie Lock Assembly using these bolts.
Orientate the leck so the movable cam is in the down position. Locate the lock so that the
center of the cam is 11 34 inches from the jamb tube.

7. Connect the red and gray wires from the control box together, Connect the brown and
violet wires from the Electric Lock Assembly to the matching wires from the contral box
Use the provided wire nuts, See the Electrical Diagram,

214547 and 219544 Page 2




8 Connect the orange wires from the Electric Lock Assembly to the screw head leads on the
24 volt transformer.

g [nstall the shoulder bolt, washers, and 5/16-18 nut
into the hole on the belt clip. The bolt should be L
mounted as shown in Figure 2, S

10. Attach the belt clip to the door. (New screws have |
been provided if required). Manually close the C:E 0 E

door,

11. With the door in the fully closed position, adjust ‘

the horizontal and vertical position of the Electric
Lock Assembly so that the steel post is captured by . %

the movable cam. See Figure 3. Tighten all
mounting nuts and secure all loose wires.

12. Turn power back on to the system from the
building's circuit breaker panel. Reinitialize the
door system using the handy terminal. See
section 7.09 of the Gyro Tech Enirance
Systems Instruction Manual for
Microprocessor Controfler and Handy
Terminal for Gyro Tech Slider Type Doors.
Activate the Hold Close option and, if
necessary, adjust the location of the ({
Electric Lock in relation to the shoulder
bolt.

Installer’s discretion: For easier access, the

installer may want to remove the belt from Figure 3

inside the header, INPORTANT- Observe the

tension in the belt for reinstallation. Remove the belt by loosening the “adjustment bolt”
securing the idler and the two idler mounting nuts,

Naote: The electric lock works only in the “"EXTT" and “OFF" modes. Make sure the switches
are in proper positions.

For Lanson Enginsering Assistance, call (877) WABCOWI 8 am to 430 pm C3T.

319543 and 219544 Page 4




PRGELL
CFGGFE
=
ipGEpl Jo polieg

ATNO mm%GE

440 NI SHHOM ADO'

11X3

‘310N

EE|E AL

Biiapaipg, ¥or] Supaarayenee 5LL pisabeped [ENERLD ._

apopy 16N Jo 2popy el AEAA 2UQ) 3 Indu) SPOY
(e]-[g] Aejap awn ' [ol INding Xy © jEULIa) APUBH

T ————

u_ P|__ |zang-oF nHrmD i |

HOOD

= ||._ _L. |zaeg %1 Oidman nig

ﬂumn__.,_u_ _lm_.m_n_._n__ ML __u..._m_u._n.

DS

[l

E
|

(AZLOQIANITY

[}
RGETR[ (NOT OFHDOTRN [Gawo0T  1Nding
IS
KO AWMLY
g @
e .
el r&._ SLLoY
HIWHOASHYL WILLIoZU|
SR S| HOSHYY 1 Ty
TSl ONAD A e
Um..._t _U.m‘__rmu aary rnidag sl IR Ro e Usda QU] ©
: wrey e ERELINED a0 [ sl B UL
._.l._mm_uHH ALl LT (3 1 o L e i AR SEERLE R
RO D o
4 (Ava9)-1n0 s i R s“_ _
T
_..._M|_.ﬂ____.__.._ +1 M 4.U...._.....m.._..”__ .me__mh,._
TRMOEE] AZEDOB) o dum) ToneuaL AONYH

HITIOHLNOD HO5S320Ud0OUIIN

ey LOGEYEZ - HOSL OHAD




vs6ie m e EHISON ROSHT il T NOlLdIED530 __ Nid ._._“r_.ﬂ__..__.u._.._
e — SSoNTHLND o BLwEsp SIU) 0 ¥ PUE € '€ Sbed | PEE
e e HO3L OYAD T ] G %0l %z xog buddiug | aciiel] L | €
| 0 R ) S S O :_l...-._-...”r__.u..,. ﬂ_ﬂm_.l__ H_-._u_m__m _u._.-.u__u_l_ M__.__jU.Um. HES _ ._..._..__u_um._.N_ _.. _M
I : R kel T e it i E gsalsey Buipuey oozekl| 1\ ¥
__ | STOEIDAG POIeISUl H1IbA - 95 e _xuu.._rw_w__mm_.m._:_ TR ave Fmﬁuw ...umm.w.“_m 1R UM giZipi| £ S
yBlapis paxi| putH By 5 ‘pajajaoduadg [Ind pueH Ha gL-g/E ‘0N aenbs | 0g-LE00KE il
’ ieIEd-lg §LLL B U0 pasn iy aana3g [Ed =71 % GL-B/C ‘51108 PESH XaH | 92-¥LOOVE] C Z
vl ‘maog buidde| J18s | OE-wi00VE} ¥ d
@ 1eoelg JaULLo)SUBIL aLeRE| b | P
m —. JauLCjsUE] YoM 72 toLzei] b [V
- . T B1-01/5 NN %aH | er-beoove] b "
i O 9uG Jeusep el | vi-LL00vE| b k|
Ty W [ peuipow'uoT 2 ¥ BiE 1108 SSPINES gomerl| b €
H]_,_ ¥
\o
.—lm..._ 1z _“..M U_l : ATl

=)

@& 0 @




Installation Instructions for Electric Lock Retrofit on Maodel 1175
Bi Parts, Left Hand Full Open/Pocketed, and Right Hand Fixed Sidelight Units

Parts:

Shoulder Bolt 149853 Two (2) 3/8-16 x ¥ Bolts 240014-26
Large Flat Washer 240017-14 Two (2) 3/8-16 Hex Muts 240021-26
5/6-18 Nut 240021-18 Fail Safe Lock, Right Hand 219073

24 volt Transformer 142101 . or Fail Secure, Right Hand 219074
Transformer Bracket 149167 Three (3)Wire Nuts 141218

Four (4) Self Tapping Screws 240014-30 Handing Hamess 119203

Please READ THESE INSTRUCTIONS THROUGH BEFORE STARTING. Understand
what the final result will be before attempting step 1!

Turn off power to unit via the circuit breaker in the building’s circuit breaker panel.

—
a

2. Remove both of the belt clips from the door carriers. For Bi-Parts, pull on the belt until the
belt clips have swapped doors (the longer kelt will be on the door farthest from the motor) .
For better access, do not install the clips to the doors until
the end,

1 Assemble the bracket and transformer with the screw
located on the transformer. See Figure 1.

4  Remove the left mounting nut {on the operator end) from
the operator/motor assembly.

5 Install the transformer assembly onto this bolt using the nut Figure 1
remaved in step 4. Route the black and white wires into the
switch box and connect them to utility power. The black wire should be connected to the
output side of the switch (so the toggling of the switch removes power from the
transformer). Replace the switch and switch box cover.

&  Drill an access hole in the nut track flanges large enough to fit the bolt head. Install two (2)
3/8-16 x ¥4 bolts into the bolt head track, Slide the bolts to the approximate center of the
door opening. It may be necessary to temporarily remove a rectangular plate holding the
track in position to locate the two bolts.

7 Install the Eleciric Lock Assembly using these bolts, Orientate the lock so the mavable cam
is in the down position, Locate the lock so that the center of tha cam is 11 3/ inches from
the center of the door opening,

8 Connect the red and gray wires from the control box together using the providad wire nut.
Cannect the brown and vielet wires from the Electric Lock Assembly to the matching wires

219541 and 219542 Page 2




from the contral box. Use the provided wire nuts. ‘E;

g Connect the orange wires from the Electric Lock Assembly
to the screw head leads on the 24 volt transformer. See
Electrical Diagram. o eio}o E

10. FOR BI-PARTS ONLY Unplug the & wire harness from
the motor, Install the new handing hamess between the
motor and the existing hamess, Carcfully secure them

behind the plastic cover.

11. Install the shoulder bolt, washers, and 5/16-1 8 nut into the
hole on the taller belt clip. The bolt should be mounted as Figure 2

shown in Figure 2.

12. Attach the belt clips to the doors. (New screws have been provided if required).
Remember, the shorter clip mounis 10 the door under the motor.

13, With the door in the fully closed position, adjust the horizontal and vertical position of the
Electric Lock Assembly so that the steel post
is captured by the movable cam, Tighten all
mounting nuts and secure all loose wires,

See Figure 3.

14. Tum power back on to the system from the C{
building's circuit breaker panel. Reinitiahize
the daor system using the handy terminal.
See section 7.09 of the Gyro Tech Enfrance
Systems Instruction Manual for :
Microprocessor Controller and Handy Figure 3
Terminal for Gyro Tech Slider Type Doors.
Activate the Hold Close option and adjust th

relation to the shoulder boit.

e location of the Electric Lock Assembly In

s, the installer may want to remove the belt from inside the
he tension in the belt for reinstallation. Remove the belt by
ecuring the idler and the two idler mounting nults.

# Installer's discretion: For gasier ACCes
header. TMPORTANT- Ohserve §
loosening the “adjustment bolt™ s

. Mote: The electric lock works only 1n the “ONE WAY ™ and “OFF" modes. Make sure the
cwitches are in proper positions.

For Lanson Engineering Assistance, call (877) NABCOWI 8 am 10 4:30 pm C3T.

Th954Y and 219342 Paze 3




ProELE
o
LEGGFL Jo b bed

ATNO mmmGE 11X4

440 NI SHHOM X007 -3LON

Buyipa, 120 aloojFuEnueR 64 L Lsaleped [EnuRED _

apoy Jybip 10 apopy ogjeiL AEA BUD | Indu) SROIY
[e]~{0] Aejep 2w * [0l Inding XNy : jeujuse ) Apue

hl ﬂ. ?ﬂ?ﬂ%ﬂﬂuﬁ

-

. (303 -G ObbeRp 3u I
I HO0

YIAELI3Y

_ AGUELD)
H

[]

HoTg

alln ] EjEL [IE
adk] wnoag ey  A-ed

APEIY

3)|¢

AWHOISHEL

“ REV g fOl OTHI0TND [GEasaT " LNding
TEHDIS
N ..~ et £ T Te
2] IUM, &. m\)rlx
1
s __? SLIEDY
uiLOaU|

=

=]

iazLoalavay

AP ArTRaUcy [ BTl FInCD e
Sug RRITIA SR A e b TAR A ATSAETR
PRFCAALA B A LTS Bl TR e
- gy Buraepd ad i IIFTEE oG T edks Ll

e e st bl b
CERE v
4 ’ [AvHS) - 100
3 F W
L0 +LN0 el ek i
=] [dERF HDEsAS
HAMOUEFAZID08| oy fam) ynimuaL ADHYH

HITIOHULNGD H0SS300HJ0HDIN

T L068FE - HO3AL OHAD




CHCELE . $eE — NOILdIHDS30 Nid  |ALD{WaL
1 el b e m ﬁ%ﬁﬁ.ﬁﬁ%wﬁ“ |._u.. |,..I| BUIMEIR SI) |0 f pUB £ 2 abe i __ L
B HOAL OHAT | = ; = a% 01Xzl wogBudos|  @avbek| b |
! - : ] _entiiviies j— oueH U9 polses ped|  selgrzl b | €
1P Y Sl 1 T TR el
”“ o i ELYR | TP LeE T .ﬁum_.l Tl z.n_lh ﬂ_.
SHGTEIBA0 POIFIEN] HE T - ofes (10 o0 amaeid Lo e TR NN BIAA gizivi] € |9
: juBijapig poXid pueH 1337 pUE pajayaodjuadg ind pueH 61y gi-g/t NN 2iEnbg | 92-LZ00bE| € 9
| -sg|Bulg GAL| U0 pasn Iy 2jes jikd 211 X 94-9/C 'SI0E PEAH XaH | 92-vi00vel & L
| vl 'masog buidde] jias| OE-vLOOPE| 2 5
ﬁ JeyoRlg JellojsuRl L jalepLl L | ©
@ JBlo)sURI] Jen BT Lokgkl| L
: gr-a1/s N XeH | ei-tzoovel b |*
—-{z1) GT9u/E TeuseA 1Bl | v-Lb00vE| b |CF
W SaypopyBuoT z X g/ o Jepinous | £g@skl| b &
b MR
.-—._,ﬂ_‘"___.m..._..ﬂ_
=] ;
—— .......
Zh{ L) o (i

fzd
(8




Installation Instructions for Electric Lock Retrofit on

Right Hand Full Open and Left Hand Fixed Sidelights

Parts:

Shoulder Bolt (Cut down to 2") 149853 Two (2) 3/8-16 x ¥ Bolts 240014-26
Large Flat Washer 240017-14 Two (2) 3/8-16 Hex Nuts 240021-18
3/6-18 Nut 240021-18 Fail Safe Lock, Right Hand 219117

24 volt Transformer 142101 or Fail Szcure, Right Hand 219118
Transformer Bracket 149167 Three (3)Wire Nuts 141218

Two (2) SeIf Tapping Screws 240014-30

Please READ THESE INSTRUCTIONS THROUGH BEFORE STARTIN G. Understand
what the final result will be before attem pting step 1!

1. Turn off power to unit via the circuit breaker in the building's eircuit breaker panel,
2. Open the cover of the header and remove the cover off the switch plate on the left side of
the unit. Remove the switch, loosen the maunting nut and slide the switch box towards

the jamb tube as far to the left as possible, Tighten the mounting nut,

Assemble the bracket and transformer with the screw
located on the transformer. See Figure 1.

b

4. Remove the mounting nut from the operator end of
the operator/motor assembly.

5. Install the transformer assembly onto the
operator/motor assembly bracket using the nut
removed on the last step. Route the black and white
wires into the switch box and connect them to utility Figure 1
power. The black wire should be connected to the
output side of the switch (so the togeling of the switch removes power from the
transformer). Replace the switch and switch box cover.

6. Drill an access hole in the nut track flanges large enough to fit the bolt head, Install two
= (2) 3/8-16 x Y3 bolts into the bolt head track. Slide the bolts next to the belt tensioning
bracket, It may be necessary to temporarily remove a rectan gular plate holding the track
in position to locate the two bolts. Install the Electric Lock Assembly using these bolts,
Orientate the lock so the movable cam is in the down position, Locate the lock so that the
center of the cam is 11 3/4 inches from the jamb tube,

7. Conneet the red and gray wires from the contral box together. Connect the brown and
violet wires from the Electric Lock Assembly to the matching wires from the control box.
Use the provided wire nuts. See the Electrical Diagram,

Z19%43 and 219544 Page T




10.

11,

12.

Connect the orange wires from the Electric Lock Assembly to the screw head leads on the
24 volt transformer.

Install the shoulder bolt, washers, and 5/16-18 nut
into the hole on the belt elip. The bolt should be .y
mounted a5 shown in Figure 2. a,

Arach the balt clip to the door, (MNew seraws have

been provided if required). Manually close the [:E'@}J 0 @

door.

With the door in the fully closed position, adjust
tha horizontal and vertical position of the Electric

Lock Assembly so that the steel post is captured by

the movable cam, See Figure 3. Tighten all

mounting nuts and secure all loose wires.

Tum power back on to the system from the Fiuiire 2
building’s circuit breaker pansl, Reinitialize the 7
door system using the handy terminal. See

section 7.09 of the Gyro Tech Enirunce

5 r e ™ | =55 .
Systems fnstrucrion Manual for i%,mh T R

Microprocessor Controller and Handy 5 Ol

Terntingl for Gyro Tech Slider Type Doors.

Activate the Hold Close option and, if

nacessary, adjust the location of the C{
Electric Lock in relation to the shoulder

bolt.

+  Installsr's discretion; For easier access, the
installer may want to remeve the belt from Figure 3
inside the header. IMPORTANT- Observe the
tension in the belt for reinstallation. Remove the belt by loosening the “adjustment bolt™
securing the idler and the two idler mounting nuts.

»  Mote: The electric lock works only in the “EXIT" and “OFF" modes. Make sure the switches
are in proper positions.

For Lanson Engineering Assistance, call (877) NABCOW] & am 1o 4:30 pm CST.

215543 and 215544 Page }




Duuipg saor norgenuely o psaiieysnd Enueinh _

¥¥GGi]
Ereant
LPSEFE Jo ¥ 0beg apow BN Jo apoy 2ilel] Aepn auny @ jndu) 2pop
[€]~[o] Aejap awn * [o] Inding xny @ |ewusa ) Apuey
ANO S3A0W LEXd L - . .
um - _..._r..uﬁ.E:E_q& .._ _.. 3stl=5L glinap o=y i
: E FSOTD S N0 = i laln |
440 NI SHYOM %001 ‘FLON s josson 4000
R e g THOT OFH0THA [o=wooT . Lnding
THNDIS
| NO[ FUINMALLIY
P A ZF P |

abuean

OigAs )
HIHILOT AVZOY w m _m_ m}._ \_
BIRIEI) |
PEIE ST
= HAWHOASNYHL LI LU 2IRE]
e _ sojjay, &
=g [
e )
R N e L ity BrseRb] g 1 Lo gy LA LT
AMELS T HD0T HL2a3 ...___.._H.._.. NITS |IE T ETF] 2 .ﬂ.p..ﬂa_..u_....__if T T T
- ‘l.--ﬂsl__ﬂl.-.
[AvHS) -LND __,._u.:iu.n....._n....h
finara e
i SRR "adin A [l uvedal %
£ oot BOSHIS o y
... (NAROHE] AZLDO6 £ lasl TveanuEaL ADHYH Ldv) 300N05 Eamia [
HITIOHINGD HOSSII0HdTHIIN
0 e LOGIPZ - HOTL OHAD
| AZVIQIAVTIEY |




Hie 1 NOILJIHOS Dlwad
Ao m e [T = m:_._H.._.“Mu m_;m__“_un b pue ¢ 'z abed - __L_,.” ___ ;
) N— HOZL OdAD o o EX 0L % gL %08 Bulddiug gsiiell b | €
] A PUEH 1j27 4907 2naag |ind grleLz| + | E
e e [ erRITL mENE v
L R T e e R TITE
JyBlopIS poxid pUeH 1487 pue pajayaodjuadg |ing pueH U LTE 91g/c NN 2ienbs | oz-Lzoovz| Z |9
rsalfulg G211 U0 pasn 1y ainaag JIed Z/L X OL-8/C 'SIOE peaH xaH | 92-¥100¥Z| € L
b1y ‘malog Buidde) jes | oc-vhoovz| 2 [ ®
\aoe)g JaULIDSUEL | JoLevi| L | ©
m @ Jauiojsues] Yon bE T
- | | 81-01/5 0N %aH | ai-tzoove| b 7T
—(z1) 1o/ ausep e | pi-zioove| b [¢F
o W ‘palipe'BuC £ X 9/E ‘1108 JBpINous EBEvE] b |EV |
(&)




Wiring Diagram for connecting push plates and or card readers for Night mode.

Attach the normally epen conlacts across the red and black wire on cither the rocker or key
swilches.

%l i
Wie ——
l 5
oy | - .
— Bum
Whils ——
Biack — Wi — T i
$— Red — — Red —— Greon
Bwck - —
LD AR — fllack
e
il O
| Push butiom swalch
C during mighl made







